Ejercicio 3, Práctico 3:
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Luego aplicando divisor de tensión:

[image: image4.wmf](

)

(

)

÷

÷

ø

ö

ç

ç

è

æ

+

÷

ø

ö

ç

è

æ

-

+

-

+

-

=

÷

÷

÷

÷

ø

ö

ç

ç

ç

ç

è

æ

÷

ø

ö

ç

è

æ

-

+

+

-

+

÷

÷

ø

ö

ç

ç

è

æ

÷

ø

ö

ç

è

æ

-

+

+

-

=

-

-

2

1

2

1

2

2

2

2

1

2

2

2

1

1

1

1

R

L

C

L

R

j

C

L

R

R

Ve

R

Lj

C

L

C

L

j

R

R

Lj

C

L

R

C

L

j

R

Ve

R

Lj

C

L

V

j

j

w

w

w

w

w

w

w

w

w

w

p

p


Sustituyendo:
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